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Nr. ;)a) HX)’—'—’Zg/'n(’Sx)'l"fO
Fl(x)ﬁ _q icos (3x)3= - 6-cos(3x)

b) Flgr=—= C0$(3(§<-2)) = - (COS (3)(—-()
)= = (Csin (3%-6))- 3= 3sim (3(x-12)

e) izt sin [ § [ xadly -4

Fi(x)= 0,7 Cos (5(x+1)) 8 = 1-cos (5(x+1))

d) Fx) = ’L+cos{3§)
Fix)= =gt (%—() % - - -g Sin C-;S)

e) Fix)= 1- cos (2x -12))
Pix)= ~(=smm( 2(s-2):2 = 2 sin (2(x-2)

F) FCX)"—- X + sin(1x) -6
FI) =74+ cas B2 = 4+ Zweosl 2x)

)2p=5= > b=20 45 ‘
P=5op=a5 > b 5 = =>F(X)=4J/n[::-/7'-)()‘0,5’

dp=2 A=3, b=2T-0r = )= -35im (7 x)

e) p=2, QA =S=A=2,5 = F(x)—’zf sin(Mx) +0.8
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